oS 189 AABC 9|4l AC=5b,BC =a,

CHLAB @ o, S84 o greq
sin B
@D a?b? @ a+b @ ab
b a
@3 ®;




2. o2 19 sinx 9 F2?

S)
ol w

4
Ok ®

] w

B

AEDC ™ ABAC(AA E5) 0|22
(DEC = /ABC ©]|t}.

webA] sinx = S = ¢ ol

&l




ol7F 1 Al ARZHOIA o T &2

»,

rlo do
[
o
A=)
iy
-0,
rc
>
all
1o
m

—

0.75
0.6

@ sina=0.8 @ cosa=0.6 ® cosb=0.9
@ sinb =05 @tana =0.75

~&B ~

@ sina = 0.6
@ cosa = 0.8
® cosb =0.5

@ sinb = 0.9




4.

A

r[o

e % 94

gO

@ sind5° = cos45°
@ tan35° < tan40°®
(@)sin 56 ° < cos 56 °

T =2H?

@cos48° > cos38°
@ sin37° < cos37°

B

@ cos48° < cos 38°
® tan35° < tan40°
@ sin37° < cos 37°
® sin 56 ° > cos 56 °




5. A4 2 - (V3+1)x+ V3=02 F 22 tana, tanb 21l

b °] 27|17 (H, tana < tanb , a,b = Z)

@ o0 @ 30° ® 45° <§§)60°

B

® 80°

el

= (V3+1x+V3=0

(x=1)(x—- V3) =0

x=1%E% x= V3 o]t}

tana < tanb ©]EZ tana = 1, tanb = V3 ©]T}.
o b =60°




& 185 2ol 45 gl ’4

=
o m=

7}1 ¢l AREdollA o= +E o] 1 0724

45to] OB 4 Zolg +otHA? 1
A

€T
O B
95 sinx COSzT tanz

43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1.0000

46° 0.7193 0,6947 1,0355

47° 0.7314 0.6821 1.0724

@0.6821 @ 0.6947 @ 0.7193
@ 0.7314 ® 0.9325

1) tanx = C=D = ¢b = 1.0724
OD 1
x=47°
2) cosx = 2 _ OB _ cos47° = 0.6821
AO 1




A Ao FE Hrlo]e} gho 1
B ZFAAE B A47re] o
7t et Edlol= Al 20km 2
YAz 950 Wgko 2 731 Sgtol=

A& 4km 2 'F5% 35° YFo=
iy A 2| - oA ZEet 2] 1 AIZE
302 Fof Arlo|et ko] Apo] <]
A =?

=

@® Vilkm @ 2+V13km ® 3V15km
@ 5+21km (@)6\/ﬁkm

~&B

(L5 A2 B Avlol7t 2 A)
=20x15=3
(L5 AIZF F<t

:4><1.5:6 (km)

dvlo]e} ol7t Q= AHe 44 B, C =L
AH =6c0s60° =3 (km)

. HB =30-3 =27 (km)

CH = 65in60° = 3V3 (km)

. BC = VHB? + CH?2

272 4 (3V3)2
= 6 V21 (km)

oli
ol
=)




8. = IHAA xy o g2?

D
A \‘\
y
\\\_,”
B ----y4---"7C
43 113 16 V3
O 3 @ 3 @ 3
152 172
@ 2Y ® =
4 4
AB
AABC 01 Al tan 30° = — .
I BC
M _x . _4¥3
3 477 3




B z | sin z| cos z | tan z

D 53°| 0.80|0.60 | 1.33

54°| 0,810,559 | 1,38

55°| 0.82| 0,57 | 1,43

T , 56° | 0.83| 0.56 | 1,48

® 225 @138 @2.19 @193  ©® 081

B

OC = 0.59 °]|2.& x = 54° o]t}
CD =1xsin54° =1x0.81 = 0.81
AB=1xtan54° =1x1.38 = 1.38
AB+CD =1.38+0.81 =2.19




10. o8& AABC oA /A = 30°, «CBH = 60°, AB = 40 & o
9] 7;:101 S 7-ot= A oltt []ou grol 1741 Fe AL

, CH

ATl — Bh—
2
AB = ~ tan 30° tan 60° ’ \/§ =[ D
. h=40%x —
@ (7h taneo® @ () tan60° ® () AH-BH

@ (2F) 40 ® (1) 203

~&B

(7H ©ll tan 30° 7} S°]7toF gt}

ﬁzhafhﬂ%}?i ,
AH = BH= ——

tan 30° ° tan 60°
AB=AH-BH=

tan30°  tan60°

. h:40x§:20\/§

, | tan30°  tan 6§]° a
h( = >=40,h><—=40

V3




A o, AABC 9] Hol]=?

»lk\w

11. o3 293 22 AABCO|A] cos ZA =

(T, 0°< 2A 90°)

---10cm----

132 15
Ecm2 @ 32\/_Cm2 ® ?ch
015\/' ) 5 15\/Ecm2
2




12.

A A A, B, CE=A 24 OX, OY, 0Z
7t A4 1 3 gt Holok /A0C =
/BOC = 60° ]2, OA = x, OB =y,
OC =z & o, x, y, z Aro] 9] &
AAS Zefet

1 1 1

O z=x @)-==-+4- ® z=x+

y OZ P y
1 1 xy

@ z=— ® -=
Xy z x+y

B

1
AAOB = —xysin (180° — 120°)
1
=X sin 60° + ¥z sin 60°

L X \/g e X \/§+ 1 X \/g
‘Y. = _— = =X — — -
WV Ty TN Ty TRkt

w2bA xy = (x +y) z A xyz & FHoll Yrol+H

olt.

1 1
= —+ -
Xy

M| =




13.

AD = a, AB = b(a >
PApAGel A o] S5t

i}

b) ¢

r

_L[‘;
o] 3719 H|: 2 : 1 ot}
O3} Zol Y| 79| o] F
== AHZEE PQRS <
ToFH?

Il L=
i o do N o

at A
o

|5 %

/A = /C=120°, /B = /D = 60° ©]|2& oPQRS = Atz
ol

PS = BS - BP
=a-cos30°—b-cos30°
PQ = AQ- AP
= axcos60°—bxcos60°
1
=5la-b)
5 —P5xPQ = 2 (a-b)? olct




14. o2 94 oABCD = FAHzHg o]
t}. /EAD = 60°, AB = 6cm ¥ ),

Z 1=R=] L
A E Re] ol

@ 7 (em?) @ 5 (cm?) ,,’
®10(m) @ 2 (om?) 6 cm

E:Esm(sm:ﬁx‘/?§ = 33 (cm)

w2kA ADEC 9] Hole
1 — —
5 ¥ ED x CD xsin (180° - (30° + 90°))

:éxS\/gx6x\/7§:2—27(cm2) ojtt,




15. T2 399 AABC oA 5.0ptAB : A
7N N
5.0ptBC : 5.0ptCA =5 :3: 4 °]1, 9
HAY 0 9 {252 10em € o, AABC

o] yol=?

B 7
@ 15 (5+ x/§) cm? @ 20 (5+ \/3) cm?
@25 (3 + «/§) cm? @ 30 (5+ x/§) cm?

® 32 (5+ \/3) cm?

/N N /N
5.0ptAB : 5.0ptBC : 5.0ptCA = 5:3:4 9|22 /A : /B :
(C=3:4:50]|t},
3 o o
LA = D X 180° =45

4 o o
(B = 5 x180° = 60

5
LC=—x180°=75°
12

= /BOC =90°, zCOA = 120°, LZAOB = 150°

— 1
BH = 10sin30°cm |22 AAOB = -~ x 10 x 10 X 3= 25

DO | =

1
Zo o2 AAOC = 5 X 10X 10X sin60° = 25 V3( cm?)

1
,ABOC = 3 X 10x10x sin 90 ° = 50( cm?)

et A AABC = AAOB + AAOC + ABOC = 75 + 25V3 =
25(3 + V3)(cm?) ©]tt.




